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Here is the price list for a fruit shop - to be used for questions, 1, 2 and 4

[tem Price | Item Price
Apple 32 pence | Orange 29 pence
Banana 19 pence | Pear 43 pence
Clementine 23 pence | Pineapple £1.80
Melon £1.35 | Satsuma 26 pence

1. Aiden buys
two bananas
one satsuma

Aiden pays with a £5 note.

Work out the change Aiden receives.

2. Zaki buys
one clementine
four pears
one pack of strawberries.
Zaki pays with a £5 note.
He gets 56 pence change.

Work out the cost of one pack of strawberries.

3. There are 21 passengers on a train.

The train stops at Faversham.

At Faversham, 8 passengers get off the train and 11 passengers get on the train.

The train then goes to Sheerness-on-Sea.

At Sheerness-on-Sea, 5 passengers get off the train and 14 passengers get on the train.

How many passengers are now on the train?

4. Aiden buys
two apples
one melon
four nectarines.
Aiden pays with a £5 note.
He gets £1.93 change.

Work out the cost of one nectarine.
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5. Gabriel buys and sells some items.
The table shows some information about the items Gabriel bought and sold.

The first row has been completed

[tem Bought Sold Profit or Loss
Small vase £3.50 £10 £6.50 profit
Large vase £16 E15 | i,
Retro lamp | ... £13 £7 profit
Retro suitcase £12 | £2 profit

Complete the table
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